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TOPIC: EQUALITY

Answer the following questions

1.

For Marxist the fundamental equality is

a.Social equality

b. Political equality

c. Economic equality

d.Legal equality

Mohit and Rohit are brothers. While Rohan is a successful doctor, Rohit is a sports
person. Rohit enjoys fame and people often give him special treatment .This
difference in treatment is a result of :

a. Different choices and preferences

b.Difference in the equality of status

c. Inequality in access to basic goods such as education healthcare

d. Luck

Which of the following statesments is correct

a.Liberty and equality are supposed to each other

b.Liberty and law are opposed to each other

c .Liberty and equality are supplementary

d.Liberty and equality are contradictory

Social inequalities can be minimized by an affirmative action. Analyse the
statement .

Liberty and equality are closely related to each other. Explain.

There is a view that absolute equality is neither possible nor desire able full stop it is
argue that the most a society can do is to try and reduce the gap between the richest
and the poorest member of the society. Do you agree?



